—k
o

1/I_-\ E I ! I | 1 I | | | | | | | | | | I | E
b - ALICE [@Data :
- 1 — Cocktail sum —~
@ E 0-10% Pb-Pb |[s,,, = 5.02 TeV ocktal =
<<D ; 04 10 GeV/ 08 —CcCc—e'e ((NCO”> scaled x 0.43) .
5 10, SPro< V€ C’2|77e| =7%  —bboe'e (N_) scaled x 0.74) -
D F 12< Mge < 2.6 GeV/c ‘J/\II N e+e-, Y ete 3
O 102 B Additional prompt e’e’ _
= : Upper limit at 90% C.L. 5
'O> 1 0_3 5 \ IE
< 104F - =
~— - -
105 2 >4<_§
10_6 3 \/ é‘:ﬁ
1 0_7 E l L | L | I | L I | I I ] | | | | =
2 __ I | I I | I I I I | I I I | I I I __
slg | :
0O o 9 :Tj -
O 1
[ ! ] ! | ] ] ] ] | ] v ] *—

0 3 10 15 20

N



